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Heads OR Tails

(H+T) = H+T

(H+T)(H+T) = HH + HT + TH + TT
H*> + 2HT + T?

(H+T)(H+T)(H+T) =
HHH + HHT + HTH + HTT + THH + THT + TTH + TTT
H> + 3HT + 3 HT" + T°



Y2 OR Y2

100%

(4+15) = 1 + 15
50% 50%

(Lot 1h)(Vatls) = 1% + 21415 + 14°
20% + 50% + 25%

(Lot 1h)(Vath)(Vat+hh) = Voo + 31a°la + 314L4° + 14
12.5% + 37.5% + 37.5% + 12.5%



Girl OR Boy

(g+tb) =

g + b
(g+tb)(gtb) =

g+ 2gb + b”

(g+b)(g+b)(g+b) = ’
g’+ 3g°b + 3gb® + b’



23 OR 15

100%

(34+14) = % + 14
66% 33%

(35+15)(3B+15) = 25+ 29814 + 15°
44% 44% 11%

(5+145)(3+H5)(35+4) = %7+ 3475 + 3%5%5° + 147
30% 44% 229% 4%



100% OR 10%
1

100%

(1+0.1) = 1 + 0.1
100% + 10%

(1+0.1)(1+0.1) = 12+ 2%1*0.1 + 0.12
100% 20% 1%

(1+0.1)(1+0.1)(1+0.1) = 13+ 3*1¥0.1 + 3*1*0.1° + 0.1°
100% 30% | 3% 0.1%



Left OR Right

(L+R) = L +R
(L+R)(L+R) = L°+2LR + R’

(L+R)(L+R)(L+R) = L°+ 3L°R + 3LR* + R’
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Bullet OR Not

(B+N) = B + N
1/6 5/6
(B+N)(B+N) = BB+ BN + NB + NN

0/6 1/6 5/6 5/6

(B+N)(B+N)(B+N) =
BBB + BBN + BNB + BNN + NBB + NBN + NNB + NNN
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Positive OR Negative

(P+N) = P+ N
(P+N)(P+N) = P+ 2PN + N°

(P+N)(P+N)(P+N) = P°+ 3P°N + 3PN-° + N”
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Exists) OR Not

(E+N) = E + N
(E+N)(E+N) = E°+ 2EN + N°

(E+N)(E+N)(E+N) = E°+ 3E°N + 3EN® + N’
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2 vertices 1 vertex no vertices 2 vertices 1 vertex ho vertices 2 vertices 1 vertex no vertices
{AB} {AH{B} {3 {A,B} {A}{B} {} {A,B} {A}{B} {)
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